PR Received dated 22 Aug 2016 - 28 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 29 Aug_; 2016

Serial PR No. Document Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
1 11605244 26-Aug-2016 STA2000946  [ffasinsdwvilduidu 15.00f Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 5-Sep-2016
2 11607386 26-Aug-2016 CONZZ05728 |PLASTIC COVER ELEC.BOX 3 DEVICE 30.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 5-Sep-2016
3 11602723 24-Aug-2016 CONZZ25245 |PROFIBUS L2 PART #81448 SIZE 1x2x0.64 mm3 "HELUKABLE" 500.00| Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 5-Sep-2016
) ) TYRE 10.00-R20 "BRIDGESTONE" RADIAL M789/R157/LM gnvuanistfitasalnsa .. . . ) )
4 11607243 25-Aug-2016 CONAZ30074 | -« 4 BRIDGESTONE u M789 20.00( Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 5-Sep-2016
5 11607244 26-Aug-2016 CONAZ30590 |STRAPPING BLUE WAX GREEN COLOR PAINTED SIZE 0.80x19 MM. 10,830.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 5-Sep-2016
6 11607047 26-Aug-2016 CONZZ14641 |WIRE ROPE GRIPS DIA.16 MMFOR ROPE 5/8" ; WITH MAT.CERT. FOR OHC 15.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 5-Sep-2016
7 11607293 26-Aug-2016 CONZZ25327 |SODIUM HYDROXIDE 1.0 NORMAL SOLUTION 100.00| LITRE JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 5-Sep-2016
8 11607240 26-Aug-2016 CONZZz30075 |TUBE 10.00-20-7.50 PREMIUM 10.00 R20 enelu fva BRIDGESTONE 32.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 5-Sep-2016
9 11607336 26-Aug-2016 CONAZ06353 |GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 300.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
10 11605924 26-Aug-2016 CONZZ06422 |CUTOFF WHEELS TYPE 41 SPEC A 30 P SIZE 400x3x25.4 mm. "SSM" 5.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
11 11607306 26-Aug-2016 CONZZ06463 |GRINDING WHEELS TYPE 27 SPEC A24 R SIZE 100x2x16 mm. "SSM" 450.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
12 11607307 26-Aug-2016 CONZZ06471 |GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
e HI-TEME RTV SILICONS GASKET P/N.4 (WHITE COLOR) ""THREE BOND . e
13 11605851 26-Aug-2016 CONZZ14824  |o bR SEALER™ FOR VEHICLE 33.00/ TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
14 11605967 26-Aug-2016 CONZZz18523 |PLUG 20PH DIA.1/4" 9.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
15 11605966 26-Aug-2016 CONZZ18566 |QUICK COUPLING MOD.20-SH,DIA. 1/4" 12.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 5-Sep-2016
16 11607362 23-Aug-2016 STA2000004 |NAME CARD AW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 5-Sep-2016
17 11607379 23-Aug-2016 STA2000004  |NAME CARD AW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 5-Sep-2016
18 11607379 23-Aug-2016 STA2000004 |NAME CARD AW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 5-Sep-2016
19 11607379 23-Aug-2016 STA2000004 |NAME CARD AuW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 5-Sep-2016
20 11607379 23-Aug-2016 STA2000004 |NAME CARD AuW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 5-Sep-2016
21 11605922 26-Aug-2016 CONAZ13657 |HYDRAULIC FILTER FILTER  NO.CF135-2A1DNA""PARKER"" FOR FANTUZZI 2.00| PIECES SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
22 11606785 26-Aug-2016 CONAZ13657 |HYDRAULIC FILTER FILTER  NO.CF135-2A1DNA""PARKER"" FOR FANTUZZI 2.00| PIECES SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
23 11603119 26-Aug-2016 CONAZ13658 |FILTER DONALDSON P/N P171580 FOR FANTUZZI 18.00| PIECES SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
e RECEIVER DRIER (+LOW PRESS.SW.) ""FORMULA"" FRD 75 FFLF DR-186 . e
24 11606097 26-Aug-2016 CONZZ01623 P/N.9013-0103-00 FOR AIR CONDITION OF FANTUZZI 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
25 11605818 26-Aug-2016 CONZZ01624 |FAN MOTOR 24 VDC. DIA.12"" ( OLD TYP TD2738 ) FOR FANTUZZI 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
v FILTER OIL TRANSMISSION P55-0694 (DONALDSON) OR (FLEETGUARD P/N . .
26 11606381 26-Aug-2016 CONZZ01954 HF-6198) FOR TRANSMISSION OIL FANTUZZI 7.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
27 11604699 26-Aug-2016 CONzzo1976  |FILTER ELEMENT CODE P/N 9N-6123(CAT) P554073(DONALDSON) FOR 7.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
FILTER ENGINE OF KRESS
28 11606786 26-Aug-2016 CONZZ01985 EﬂggsR ELEMENT TYPE P/N 1R-0732(OLD 730670) FOR HYD.SYSTEM OF 6.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
A RELAY BOSCH 24 VDC.20A 0332019 203-3NU 250 25D (521) (364052 P2) . P
29 11605855 26-Aug-2016 CONZZ08999  |cor FANT. FOR FANTUZZI NO 1-17 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
30 11605857 26-Aug-2016 CONZZz09569 |LAMP HALOGEN 24V 70W H3 FOR SPOTLIGHT FOR VEHICLE 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
31 11606403 26-Aug-2016 CONZZ10997 ;g‘lg_'?AOIL ENGING (CORNER-15600-41010) P/N.1502-20 FOR FORKLIFT 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
32 11604830 26-Aug-2016 CONZZ11333 ;N%'\F'{E EAIhTFtIJLszEIR P/N 2466634 (DONALDSON P55-3191) (VOLVO 466634- 8.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016

Page 1 of 4




PR Received dated 22 Aug 2016 - 28 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 29 Aug_; 2016

Serial PR No. LA Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status A G
Date site Dated
33 11606402 26-Aug-2016 CONZZ11333 ;N%'\F'{E ?AIETFEJLZTZEIR P/N 2466634 (DONALDSON P55-3191) (VOLVO 466634- 8.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
34 11605972 26-Aug-2016 CONZZ11334 \F/gEngIk/ITOEgEPL/ -I\rl|52711422771 (OLD P/N.3825133 (21466987)) FOR ENGINE 13.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
35 11604831 26-Aug-2016 CONZZ11335 E('\D'EIL\'AEN%LZ;IILTER BY PASS P/N 477556 (VOLVO) DONALDSON P550425 10.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
36 11606127 26-Aug-2016 CONZZ11570 IﬁgSZSRSIE’;TM(ggEFépc_g:%é_120‘;f,ii%’ﬁéﬁiﬁi?&fﬁ%’hugﬁ EANTUZZ1 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
37 11605854 26-Aug-2016 CONZZ11718 |LAMP HALOGEN P/N 8T8752 FOR KRESS 23.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
38 11606401 26-Aug-2016 CONZZ14281 |FILTER FUEL P/N FF5052 FOR ENGINE COMMINS 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
39 11603733 26-Aug-2016 CONZZ14282 |FILTER OIL P/N LF3000 FOR ENGINE COMMINS 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
40 11606400 26-Aug-2016 CONZZ14282  |FILTER OIL P/N LF3000 FOR ENGINE COMMINS 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
41 11603734 26-Aug-2016 CONZZ14284  |FILTER WATER ""FLEET GUARD"" P/N WF2073 FOR ENGINE COMMINS 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
42 11605970 26-Aug-2016 CONZZ15243 |CLAMP HOSE 4"- 6 1/8"  P/N 5P0599 FOR KRESS 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
43 11605848 26-Aug-2016 CONZZ18996 |LAMP 24VDC 10W FOR FANTUZZI 10.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
44 11606857 26-Aug-2016 CONZZ19273  |TURN SIGNAL LIGHT 24VDC SIZE 115x35 MM (SYK 0906) FOR VEHICLE 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
45 11606215 26-Aug-2016 CONZZ19487 ;'V(I)ng ES;FAUEDIEOOF%FZ{AFTA,(\IITZJZO;I) ID.1/4™ (MAX.WP.5000 PSI.) (OD.15.5 MM) 2 24.00| Metres SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
46 11606855 26-Aug-2016 CONZZ20680 |MIRROR P/N 2664.905003 FOR FANTUZZI 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
47 11606523 26-Aug-2016 CONZzZ21671 '\S"\?STTOEF:,ng'\; i:NVI\'IDTCU'Z‘Z‘?OO RPM DIA.85x85 mm. FOR BOX AIR CONDITION 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
48 11607228 26-Aug-2016 CONZZ21671 g'YOSTT%F;,ng'\; i:N\/l\?TCUz;?OO RPM DIA.85x85 mm. FOR BOX AIR CONDITION 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
49 11606846 26-Aug-2016 CONZZ28465 Si{ﬁ\f’gfiiﬁ?ﬁfﬁUGE 24VDC.P/N 2516004(0-8Kg/CM2) FOR CONTROL OF 3.00f Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
50 11605505 26-Aug-2016 CONZZ28523 |BATTERY POLE (-) FOR FANTUZZI 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
51 11607035 26-Aug-2016 CONZZ28586 |LOCK WASHER 7/16" P/N 3B4507 FOR KRESS 40.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
52 11606841 26-Aug-2016 CONZZ28865 |CUTTING TIP "HARRIS" 6290 SIZE 3NX (CUTS 50-75 MM STEEL) 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
53 11607227 26-Aug-2016 CONZZ28865 |CUTTING TIP "HARRIS" 6290 SIZE 3NX (CUTS 50-75 MM STEEL) 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
54 11605872 26-Aug-2016 CONZZ28901 |RELAY 24V. (HELLA) 4 LEG (TYPE 4RA003437-09) FOR FANTUZZI 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
55 11605988 26-Aug-2016 CONZZ30008 |DIESEL FUEL FILTER CARTRIDGE P/N 2V.20805349 FOR FANTUZZI 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
56 11605989 26-Aug-2016 CONZZ30010 |OIL FILTER CARTIDGE P/N 2V.3831236 FOR FANTUZZI NO.16-17 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
57 11606140 26-Aug-2016 CONZZ30102 |ELEMENT KIT POS.4,6,12 P/N 16444-97001L FOR NISSAN TRAILER 5.00f Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
58 11606914 26-Aug-2016 CONZZ30322 'IIE';?I/IIFENRT#E{IOP /N.15274-90226 "BLACK CLUB" (OLD P/N 15274-EP026) FOR 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
59 11606307 26-Aug-2016 CONZZ30323 |ELEMENT KIT P/N 15274-EP025 "CORNER" FOR TRAILER#1-10 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
60 11606915 26-Aug-2016 CONZZ30325 |ELEMENT KIT P/N.16444-99129 POS.1-3 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
61 11607278 22-Aug-2016 STA4000850 [iefaaifelvivhauia 4" BOSCH 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 5-Sep-2016
62 11607335 26-Aug-2016 CONZZ30516  [Linnanieugwsn  Auenfiaa e 12.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 5-Sep-2016
63 11607348 25-Aug-2016 STA4000218  |FACE SHIELD VISAGOM  Tasenseiioniin+nseiionin 10.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 5-Sep-2016
64 11607268 22-Aug-2016 STA1004060 |TONER CARTRIDGE Q5949A 6.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 5-Sep-2016

Page 2 of 4




PR Received dated 22 Aug 2016 - 28 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 29 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11607404 24-Aug-2016 STA2000364 enanse 24.00| Kilograms PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 5-Sep-2016
66 11607404 24-Aug-2016 STA2000568 213U 20.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 5-Sep-2016
67 11607404 24-Aug-2016 STA2000569 e 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 5-Sep-2016
68 11607404 24-Aug-2016 STA2000971 |eawflwe( wuuge ) 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 5-Sep-2016
69 11606506 26-Aug-2016 CONZzZz05811 NUT HEX.HEAD (CLASS 8.8) M16-2 310.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
70 11607014 26-Aug-2016 CONZZ06462 BOLT&NUT HEX.HEAD M22-2.5x100mm(CLASS 8.8) 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
71 11607267 26-Aug-2016 CONZZz06559 STAINLESS STEEL PLATE DIM.1200x2400x2 mm. 1.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
72 11607018 26-Aug-2016 CONZZz06746 FLAT WASHER (STEEL BLACK)M12 FOR VEHICLE 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
73 11605925 26-Aug-2016 CONZZz06762 BOLT&NUT HEX.HEAD M6-1x20 mm.(CLASS 8.8) 60.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
74 11605596 26-Aug-2016 CONZzz06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 10.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
75 11606273 26-Aug-2016 CONZz06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
76 11607016 26-Aug-2016 CONZZz06776 BOLT&NUT HEX.HEAD M10-1.5x20 mm.(CLASS 8.8) 90.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
77 11606277 26-Aug-2016 CONZZz06788 BOLT HEX.HEAD (CLASS 8.8) M12-1.75x60 mm. 90.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
78 11607025 26-Aug-2016 CONZZz08020 BOLT HEX.HEAD (CLASS 8.8)M22-2.5x80 MM 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
79 11607020 26-Aug-2016 CONZZz08029 BOLT HEX.HEAD (CLASS8.8) M24-3x140 mm. 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
80 11606278 26-Aug-2016 CONZZ08093 SOCKET HEAD CAP SCREW  M10-1.5x40 mm. 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
81 11607021 26-Aug-2016 CONZzZz08101 SOCKET HEAD CAP SCREW  M12-1.75x40 mm#CLASS 12.9 150.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
82 11606095 26-Aug-2016 CONZzz08117 SOCKET HEAD CAP SCREW  M16-2.0x50 mm. 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
83 11607267 26-Aug-2016 CONZZz13053 STAINLESS STEEL PIPE DIA 1/2" SCH40 SUS304 #SEAM 1.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
84 11604047 26-Aug-2016 CONZZ14165 EIATJTISSZ?SP FEMALE SWIVEL STRAIGHT THREAD 1/2-14 (08-08) FOR 5.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
85 11607048 26-Aug-2016 CONZZ14543 BOLT FLANGE HEAD(HEX.) & NUT NYLON INSERT M12-1.25x40 mm. 300.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
86 11607354 26-Aug-2016 CONZZ14844 REDUCER PVC. 3" - 2" 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
87 11606296 26-Aug-2016 CONZZ15035 NUT HEX.HEAD 1/2"-13 UNC FOR VEHICLE 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
88 11605850 26-Aug-2016 CONZZz15144 BOLT&2NUT 7/16""-20UNFx1-3/4""LG. (CLASS 10.9) FOR FANTUZZI 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
89 11606295 26-Aug-2016 CONZZ15144 BOLT&2NUT 7/16""-20UNFx1-3/4""LG. (CLASS 10.9) FOR FANTUZZI 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
90 11607205 22-Aug-2016 CONZZz18223 GRINDING WHEEL TYPE 7 FOR G1-4 DIA.915x152x508 mm. 3.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
91 11607041 26-Aug-2016 CONZZ19037 NYLON INSERT LOCK NUT M22-P = 2.5 MM 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
92 11604039 26-Aug-2016 CONZZ19509 gT;EI\I;IS BFS(;DRFEZ:\T_:_—SZSZVIV{\IVSILI§T1R7AIGHT THREAD 1/4-19 (04-04) (WITH 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
93 11604040 26-Aug-2016 CONZZ19514 IE,IB‘-II-\-Ir#EgZ?SI\IPOFEll\iI'lml_E SWIVEL 90- ELBOW THREAD 1/4-19 (04-04) FOR 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
94 11604812 26-Aug-2016 CONZzZz20047 ADAPTOR BSPP MALE 1/4-19/BSPP MALE 1/4-19 FOR FANTUZZI 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
95 11606115 26-Aug-2016 CONZzZz20264 O-RING OF TIRE P-51C APPLICABLE SIZE 36.00-51 FOR KRESS 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
96 11604800 26-Aug-2016 CONZZz21800 LOW HEAD SOCKET CAP SCREW M8x1.25x20 MM (HOT DIP.GALV.)FOR 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016

UNLOAD CAR SKM#2

Page 3 of 4




PR Received dated 22 Aug 2016 - 28 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 29 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11607037 | 26-Aug-2016 | CONZZ21894 |UNION F/F CARB DIA.2" -11G (002709 ) 15.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
98 | 11606112 | 26-Aug-2016 | CONZZ22042 |BOLT,NUT,WASHER,SPRING WASHER M12x1.75x30(GALVA) 20.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
99 11605962 | 26-Aug-2016 | CONZZ23296 |BOLT LOW HEX.HEAD(CLASS10.9) M18-2.5x30(FULL THREAD) 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
100 | 11607355 | 26-Aug-2016 | CONZZ25686 |REDUCE FOR UPVC CONDUIT 1"-3/4" 20.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
101 | 11607355 | 26-Aug-2016 | CONZZ25687 |REDUCE FOR UPVC CONDUIT 1/2"-3/4" 20.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
102 | 11607005 | 22-Aug-2016 | CONZZ28910 |GASKET (EPDM-PTFE) SIZE. 5" 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
103 | 11607063 | 26-Aug-2016 | CONZZ29023 |LOW HEAD SOCKET CAP SCREW M12-1.75x45MM. #CLASS 8.8 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
104 | 11607062 | 26-Aug-2016 | CONZZ29024 |BOLT+NUT+SW+SPACER+BUSH M36-4x160 COMP.SET 15.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
105 | 11607061 | 26-Aug-2016 | CONZZ29025 ;gvl\\le)AD SOCKET CAP SCREW M16-2x70MM. #CLASS 8.8 (END THREAD = 270.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
106 | 11607354 | 26-Aug-2016 | CONZZ29089 |REDUCE UPVC SIZE 2.1/2"x2" SOCKET TYPE 4.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
107 | 11607205 | 22-Aug-2016 | CONZZ29192 |GRINDING WHEEL TYPE 1 FOR G5-6 DIA.915x152x304.8 mm. 4.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
108 | 11605880 | 26-Aug-2016 | CONZZ29204 ﬁg.Lsz'fFl‘SPELLER SHAFT M10-1.25x45 MM (CLASS 10.9) FOR FANTUZZI 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
109 | 11606305 | 26-Aug-2016 | CONZZ29283 \I’DVI’ﬁE'EEN?II;FLEgE'\'FTAII\’?TLJZDZI2'5 OD=21T=5MM. (MMDDD004798) FOR 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
110 | 11607355 | 26-Aug-2016 | CONZZ29785 |FEMALE ADAPTER UPVC (SLIPXFIPTFIPT) SIZE1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
111 | 11607355 | 26-Aug-2016 | CONZzZ29787 |MALE ADAPTER UPVC (SLIPXNPT) SIZE 1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
112 | 11607355 | 26-Aug-2016 | CONZZ29791 |ELBOW 90'UPVC LONG (SLIPXSLIP) SIZE -1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
113 | 11607355 | 26-Aug-2016 | CONZZ29793 |TEE CONNE CTOR UPVC (SLIPXSLIPXSLIP) SIZE 1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
114 | 11607355 | 26-Aug-2016 | CONZZ29801 |FLANGE UPVC ANSI 150PSI SIZE 1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
115 | 11607355 | 26-Aug-2016 | CONZZ29802 |FLANGE UPVC ANSI 150PSI SIZE 3/4" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
116 | 11607355 | 26-Aug-2016 | CONZZ29803 |FLANGE UPVC ANSI 150PSI SIZE 1" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
117 | 11605299 | 26-Aug-2016 | CONZZ30101 |U-BOLT REAR (suwsawds) & (LOCO) 22x152x17" FOR TRAILER#1-10 16.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
118 | 11605414 | 26-Aug-2016 | CONZZ30156 |STUD BOLT M30-2.0x340 MM.SCM.440 ( MMDDD004470 ) FOR FANTUZZI 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
119 | 11607355 | 26-Aug-2016 | CONZZ31603 |BALL VALVE DN 15 (1/2") UPVC 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
120 | 11607355 | 26-Aug-2016 | CONZZ31604 |BALL VALVE DN 20 (3/4") UPVC 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
121 | 11607355 | 26-Aug-2016 | CONZZ31605 |COUPLING UPVC (SOCXSOC) 1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
122 | 11607354 | 26-Aug-2016 | CONZZ31899 |REDUCER PVC 1 1/4" x 1" CLASS 8.5 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016
123 | 11605240 | 22-Aug-2016 | CONZZ31930 |NPT TAPERED THREADED ADAPTERS 1 1/2" SERIE3000 TYPE SFX305NC 4.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 5-Sep-2016

Page 4 of 4




